CBEGR2

HERSE - RiEEME—R

B 5 e B B SE MM — B : (P2 544 F 1 BRI
B |8 MR | 18 JE M R EEHE| B Z | di A A& | A0 CA) [ 412 |F R i R
AR (A) | ApoEd=E B 78— ER
R ER (% ) | (3 LFAME) TR 22EEH| N | E8) ] (km)
e |5 W & ] 6 Bl6 BT 12, 390
X B 3,018 o\ 20.2% gL sc Bl X BTl 3,078 ZARL i ..3)...59.0
M ORK B 5627 19, 1% FOR B2 HT 5, 627 SRS 3 52.0
CF K AP O)|C 2,590 )
IR BERDIC 8037 O e e
X -ER 639 28. 2% g R BW fE . HT 273 S\rE—H) i 24.0
......................................................................................... R.IELE " .66 | AAE—EE 1y....35.0
BOR & .3083 22.6% B A BE & H 3,083 | swmAamp) 1) .6L0
I B 13 7.1% 2 BE & 13 FiE—# — —
ERE |3 #1 g 9 Bla ®m 1 f - 4,721
NS L8126 20.4% IR Bl M B [ 3125 | AE-EE | 16 7.2
B OB B & 1,061 27, 6% H Bl&Z N HT 465 S —E0 3 7.5
' ir = N 89 ShHE—H 3 13.8
| BE % W 426 | AE—E 7 95. 2
m_ . & A o 8L | SvE—E ) 4 1T.0
WP BB 535 3.5% | R R B|E E W 161 SE—ER 6 10.1
B x B " 84 FHHE—ER 6 7.6
f= = " 266 FhHE— 6 6.3
£+ = " 24 SR 7 11.6
R |1 @ AR 1 =1 i 228
b & 228 27.8% |7 =B ®m W 228 SHE—E 1 39, 3
BERE |1 ®H i 9 &2 B 6 # 25, 030
_ # T % 5| 25030 -0.9% & Blx B HE 8, 461 Fig2EL 4] 1200 |
' F &Rl & R 341 SUEE 3]- 147.0
o B®H B #0285 TEETER 3] 163.0
= | 5B - 532 SiEEE 3| 171.0
WwoE B E B R 1, 889 SR 3| 188.0
= £ B= = ¥ 2,676 M2 1] 186.0
W OB B OE B M 348 SRR 1| =209.0
AN X BN X W 8,231 | SESES 1| 302.0
' ry BFE ¥y B # 201 SEHEEER 1l 3830
FRE |2 Ht i 2 Ell m 1 # 63, 093
' oo Bl 368 18.5% |5 LBE B W R 866 | SwEed ] 1l 35,0
: 2= ¥ B| 62727 13. 1% = Bl & W 62, 727 e 10 67. 2
AR |1 M i 1 51 T 110
- - 110 32, 9% fih Sk & W 110 SHE—5R 1 50. 0
BEE |1 H 4k 1 Bl i 316
# & 318 -4.3% |41 Bl# B W 316 N — 11 10.3
AR O|1 M R - 3 Bl1 #i 1 T 4, 085 ]
F & — B 4,085 1 | A glm B W 271 HHE—18 6 13.0
BB & BfFE & £ 2, 051 HiE—5R 39 4.8
- % 5 I 1,763 A5 40 5.0
ZER |1 # &g 5 gl 2 i 4, 258
FE B B 4288 24, 3% Fid EE PN 409 SNiE—E 4 16. 9
& & N . - 2,379 S — 19 6.7
" = " 689 S HE—ER 9 7.6
w OoF B " 423 ShvE— 16 3.9
EOE O BEE OB W 247 Sl —R - -
M B Ui 118 g 9 3.3
EER |2 # ik 3 Bl3 iitd 7,332
H e - B 1,345 94, 0% & BlEH b LTH 506 FhE— 5 11 4.4
¥ B B2 [iil 839 —HfEE - -
(b L( 790 )
e J O M A TN 118 )|
-5 B B| 5987 33. 3% B E B#E OB W 72 PRI 5 15.5
' % =3 ” 3, 355 P 16 17.2
B8 B I 2, 555 P 14 21.8
iz} 5 u 5 [t 5 23.7




TR E s 4

8 O M I
A0 (A)

u
&

\jl
gF
it
-
&
T

T

AR CA)
B 22 4 E R

EEEE,

(= 8)

i I B R

{km)

Rk 224 E ER

—

21, 688

ERfvo
b 3
B

21, 688

=3
(@]
5

o
L

15, 521
2,374
3, 136

657

B

St HS

( o)

line o o w

81.
77,
1.
-

fi] L 1%

2,824

0 | |2

500

23. 8%

HE T |~ B R s
Wox (3
@ |wiE

|0 BT o |

= = T

ey e I

11
Bl
366
42

35. %

S
»

L

99, 5%

b4

91

13

35. 0%

pm|

i

I

3
10

SR

0%

2 I 3R B

il
s

AR

& mw@
3 gt

i
"
"
U
"

94
581
1,027
o7
20

=1

o

870

26, 6%

.54

25, 3%

E R

887

R

79

27. 5%

28.8%

R 2 | [ >

S
3

ELUEL
g

MEMﬁm

E I eI

285

" 16.9%

EESEIET

R
S =

w
e H

® @i = painainal
w @ik w —iaio

o wion o |

© mign
I CHUN Y

=]

A

LLFS-21-1

249

34, 6%

mﬂﬁ%m

HE|FHFF F

“18. 3%

kA6 i HE HE S0

|
=]

i

29.1%

32.2%

np kg

[S=RE = o]

34. 6%

.Th

2%

Bt - m AR

g o g g e WWWM@MWWMM@@MMWMMMWMM@M@MWWWWVWWW$M

ﬂﬁmﬁ RIS

O WIo DI 1 0 O W RN — W Ok B N

™

mEHR

187

WALER

- 94

- 39. 4%

| e A Bwe Ere- Fo

3

i F

&a

=

=23




HBnG |G chRa |18 €, || e biE| & E BT S I B NI R O N W P W - Ea oy e
o A0 (A) [ADEd . F\-iE — &8
_ ERE22EERH] (% ) (D bHEAREE) : FRR22EER| N Bl 8) | (km)
HIE |3 # & 2 1 g5 iF 3 mT 7,041
: H & 3 8| 4,604 15. 3% Hh B Bl E 15 Wz - —
) =1 =2 y 1, 018 FINE 12 13.0
E BE B 3,277 PIHE 36 4.8
B R B " 31 Wi 2 9.6
1] = U 17 P - =
5 X RBE # @ 162 PR 5 10. 1
.- B BB T e AT P 5 5.5
RO A 1,757 9% |18 F BE& H W 205 P - -
" B B " 89 M — —
5 & " 115 FIHE — -
N5 B " 4 M - -
A EH & W 4992 HiE , 12 10.0
+ B " 14 iz A 9.8
i = i 281 HiE 9 12.5
E=R = " 40 Pt 3 26. 3
MM F B " 53 e 2 21.3
= Wm B|E E & E 108 P 4 14. 6
s R B " 43 g 4 7.5
3 B= & F 289 FI¥E 8 4.5
SR ATUTUUURUURNNY I NONNES. STV -1 VO, SN R 4 ) A .
F KR B 590 2.% I %k BB T F W 530 Mg 4 12.0
EER (1 0 # s _ 3 1 Ble W 1 H 15, 012
RE BB 228 3L (m F M BlLE & H 38 P 4l 16.3
S # L " e 130 L i |
+ B BB 7,42 10. 3% 5 H BE B E 2, 885 P 67 1.0
_ ' = E " 519 P 9 6.7
£ & 5 " 1, 705 e 72 0.4
=2 W OB o 2, 309 TRiE 69 0.7
i} F R E LA 2. Ak = =
B EEE 51 48. 0% -] Bl B a3 FHE 7 1.5 .
T U SN | - - - " e B LR 4 4.0
B Al 5% & 119 45, 2% X T B4 ®H oW 87 Hig 7 5.1
.......................................................................................................... hREEL %2 A g2z
k BERE 76 36. 1% h Bl W W . 25 R 10 1.8
*® B " 23 M 10 0.9
B B n 25 ki 6 3.8
B M B " SRSORUUUUR: T - S -
|...83.8 Ik . BF E & W 27 | PuE | .15 2.5
Lo \EE B W | e | 1 135
27. 1% ¥ oA I B 18] il 141 8| .13.8
B A & u 276 7 10.3
= = i 3,213 i1 20.2
® OB I 446 5 31.8
o oM B " 383 5 31.8
;. " 166 6 31.8
: £ 5 SR OO IOUOU A A 4 | 1 - 8.3
5o e 19 8T E | Z S R 19 L] 2)....18.3"
FREHEH 2123 26. 5% x N IE E O™ 295 — 3 1.7
: i BF M B W 976 9 a1
3 i n 100 4 19. 4
=i = n 361 4 24. 8
H w® B " 343 4 27.2
I - " 48 SE—E — —
mEE |1 # = 2 - - &1 i 229
Wm0 B 292 . 39, 5% w0 BE & ™ 194 ShpE—E 1 26. 0
w Ok B i 28 SE—H AL
mEE (1 H oHg 8 ‘ Bla &1 1 HT 2,425
B oAl % B[ 2425 . 1.4 |& Bl Ju W 40 | AhE—E 3| 181
B B " 277 SlHE—¥ 3 20. 1
H ElE B 00 171 ShyE— 6 5.5
* =2 » 731 S 71 8.5
4 Bl & W 328 FiE—H 5 7.5
x R BlE M i) 527 sl yE—ER 7 18.5
I N - u 189 Sy 2 40. 7
1= BES T 162 SiE—H 4 7.0

|
%]
1



RO SRES XA

FGERS Hrehgs | HEEHR|BEEHE| B & | TN ¥ &
: AR (A) | AB B ' o438 — B
_ FakedEERE| (% ) | (SEEAMR) Lo EHBEl #l(E 8) | (km)
R |1 M. Eg 7 Bl1 T 1,910 _ -
: % oW WO 1,910 25. 0% = BE B W 306 ShiE—5E 6 3.0
: ' M g B "o 421 FiE—E 9 2.5
AN B ] 426 NiE—E 4 6.8
moOE B " 184 SNE—E 4 7.0
piAs B i 64 FHE—ER 3 7.5
E E B ] 437 ShHE—F 4 12.6
B B " 72 E--iF 2 40,0
B |7 H OE 5 1 Els m 2 HE 136, 983
: # B Bl 34,407 16.5% |w B Bl B @ 34, 230 SHEEER | 5|  138.0-
: ' R OB " 70 ShEEE - -
e = " 10 g2 — -
Zi &l " 46 e - -
w B ” | TR — -
............ BB SO BT |
= B 29,377 12.4% | & B1E OB TH 28, 941 SHEEED 13 70,0
T 8 B " : 14 AT - -
R & " 117 g e 4 73.0
£ = o 148 S Es 4 75.0
Ko BT I s 2 N | W (.
T A= B OB| 8,694 28. 5% 2 Bm W T 70 S E—E 3 3.0
# B u " 263 Hfe—ED 4 6.5
ok B I . 56 | A 4 4.0
x BE F T 1,269 | ANE—HS 6 1.6
i B " 828 S —HR 4 8.8
= B " 26 SR - -
F K BE # # W 2,575 SHE—E 5 65. 4
= B ¥ . 16 SifE— 5 68.9
& B " 204 HHE—ER 3 7.0
12 B " 538 . | A¥E—ES 3 10.0
N B/ E E 23 HHERE 2 79.8
B B B n _ 1 A 2 85.6
# B i 29 SNHEEER 5 70.7
dH OB B H 2,432 SR 8 59.5
2 B y 69 | ShEaER = ~
BN B H 7 IR 4 73.1
R .| I 218 AR ol IR
& Fl &| 62,696 17. 6% BB B E AR 20, 167 B 21 67.6
' B Oy B y 17 AR - -
A N " 7 ST - -
= B B T 1, 661 NHEEER 1| 194.2
B B " 48 SR - -
1 ® & N 139 F g2 - —
B EHE B I 35 | sMEEE - -
H B BE B W 2,776 SiEEE & 1510
[E[1] . & i 31 NiEEE 3| 155.4
a8 & " 395 ST 3| 144.7
BN B I 9 SR — —
HE =N i 176 SIE2E 3] 149.2
' T & n 36, 979 S gL 11| 133.2
R =1 " 10 Pasiiie sl 2 146.7
wH & n 45 Sy 2|  150.7
k-4 & n 10 S 2] 140.4
B W & " 30 S - -
. i ; 161 Easi<acin LA 1594
BoOWARE 413 | 28.5% |iT BE T 169 S —HEp 1l 22.8
N & y 84| AR 1....36.5
oy E RO8 75.0% %A &E ®E M 605 SE—H 15 4.3
SR ki BE & T 293 oNEBE |14 8.6
[ B 408 44. 7% = BE B W 408 AT 10 20.1
AR |1 M : 6 &2 it 3,546
xOE S OE| 8,548 23, 0% & Bl X B oW 374 S E—#D 5 12.0
: : Y - B n 5 SR - -
#® oW BX = W 752 shilp—H 21 5.8
# )5 " : 357 HhHE—H - -
wm o E & y 2, 054 T 23 12.3
i = 1t 4 S — — —

|
W
|



&

PE BEMKE | F 20 8| F £ H o £ | FOMT R & | A DO CK) | 5250 |25k 5 A a e
AR (AY [ AEREA = 53— &8
_ ERE22FEEEE (% ) (5 LEABEE) EER22EEH| H | (AL H) L (km)
I EEE: _ 7. Ele H 1 # - 4,208
) Bl 218 | 20.7% EE & 2,189 L 11 6.0
B % B B 2,119 33. 9% o oHF Bl A RO 62 S —Hs 2 16.0
w® F B s . 978 SYE—FD 7 14.0
XK AN BE B W 853 S —E a1 1.1
N & n 187 FHE—Ep 3 16.5
E B B n 19 ST 3 3.0
e = I 20 S —E 3 12.0
HIEER [z # & - 3 5|3 i 1, 054 -
& B o R L018 22.7%  |\® B M OBPE B T LO0IE | S 18/ .55
B R A B B 36 49.3%  [X BB E W 11 SN 4 3.4
5 I ) 25 55 - -
BRER |7 # & - P 0 B4 48 24 52, 879
E= S i N BT 2.8 W 1 BE & E T | AR 19)
= gloa Tl b0. 4% |k SIE A 5| 2 e -
i) 2| 5,576 22, 8% E B E I AW 2,488 i 3
m b= " _ 308 SHHE—ER -
P . . LA o 2a T80 | SR 4.,
66.7% ¥ BE R B T 4 e 2
10. 7% G- &1 ™ 2 HT 31, 854 ST g
(EzEH)C 16940 )
(A7 )| ( 8,696. )
(F & F Br)|( 6,218 )
B E _BAE z & M AL ) ANEZES Nl O
B A - H| 13,58 21% |BE X &BE A B M 13, 437 s el 8| 1350
SSUUUN UV IVUDTURUIUURTOOTY IOUOUTUOTOUTOY 1= 030 1 . W 152 sMged 1) 1800
MO R | 1,075 14.4% |47 B= B M 83 | SNEE 0.4 94.0
: OB & " 127 Sl 0.4 108.0
2 = b 208 SR 0.4 144, 0
o 2z &+ 5 ¥t 138 SHEEH 0.3 200.0
SR y 143 SLiE-2En 0.3 220.0
W B " 52 SEaEn 0.3 257.0
I = " 81 SiEEE 0.3 277.0
B2 5 & " 72 B2 0.3 297,90
SHO £ B b 54 Sg e 0.3 332.0
= & b 117 SiEEER 0.3 345, 0
& B (7 5 # & 2 5 4 Bleomds0Er 114t 486, 771
EIEEHE 5 (k2 544 A 1 AEA)
HERLE | B 4 AL (N [ AOBEART B # &|F # @ HHQ %&EE}%%%’@—%B
i
ER2ERGE (% ) (E ~ Al ( k m 3| P &FE]
= | 2 23 20. 7% & X% 0h - 7.4 SE—ER
TER [CAFEMAE 3 - We - ) H - 0.2 S5
=HER B 4 B — - = B m - 0.4 Pl
wBEE | =) 343 29, 0% WL N 11 3.3 7K IE
fogiE | B 24 57, 5% B & B ET 56 0.7 NiE—5
G B 199 5.0 W F A 29 0.9 P |HETEOADIER
B - 5 — - n_ - 2.0 itz EABEADTHD,
4 B — — [ L - 2.0 Ep ¥t
R | = 919 26. 4% E B 13 5.3 HiE
: & B B 107 —63. 8% I 11 3.5 R
XA EE 26 -44.4% | BE W 35 4,0 Mg
B B 1, 760 19. 7% #+ 5 W 130 2.0 RIYiE
E=u] B 42 58. 8% X & 0 30 4.0 HiE
HINE [X B 116 0. 3% BB @ 9 4,8 e
' AN 5 B 30,167 12. 7% +FEET, /T BT 84 22.0 Nz
oz B 75 22.7% |+ & H 14 22. 1 A
TER B B B 1,279 25. 6% b 28 2.0 N
BHE 1P = — - - &= ® W - 0.2 SE—EF
wEE B H B 810 -0, 6% wm R m 23 2.2 SE—E
=iRE [&E B 8 27. 3% E ] - 0.3 e
- 4 83. 6% - - 0.1 R
i B 5 - 28. 6% B & ET ~ 0.2 e
KA E O JE 5 5 16. 7% H W - 0.3 SR —H

() BREER UM IR B IR R <D,



